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80 Questions

Que. 1 Directions: In a group of 6 Persons A, B, C, D, E and F each have different heights. A is taller than E
but not as tall as F. B and F are not the tallest and also C is the shortest. B is taller than F. 

If the height of A is 172 cm then what can be the height of C?

Correct Option - 5

178 cm1.
180 cm2.
173 cm3.
175 cm4.
167 cm5.

Que. 2 Who comes between F and C in terms of height?

Correct Option - 3

B and E1.
A, B and E2.
A and E3.
C and E4.
None of these5.

Que. 3 Who is the tallest among all?

Correct Option - 2

A1.
D2.
E3.
B4.
None of these5.

Que. 4 Direction: Study the following arrangement carefully and answer the questions given below:
L ? 8 K Z 6 U 3 & 9 5 $ R + Z 4 @ G A T # E 7 S ! 3

How many such numbers are there in the above arrangement each of which is immediately followed by vowel
and preceded by consonant?

Two1.
One2.
Three3.
Four4.
None of these5.



Correct Option - 2

Que. 5 What is the sum of the numbers between & and # in the arrangement?

Correct Option - 3

201.
322.
183.
174.
195.

Que. 6 How many symbols are there between the fourth element from the right end and R?

Correct Option - 2

Four1.
Three2.
Two3.
One4.
None of these5.

Que. 7 If we drop all the symbols from the above arrangement then which among the following is thirteenth
element from the right end?

Correct Option - 1

31.
62.
U3.
Z4.
None of these5.

Que. 8 What should come in place of ? in the following series based on the above arrangement?
L8Z, 639, 5RZ, ?, #7!

Correct Option - 3

95@1.
4@G2.
4GT3.
4@T4.
None of these5.

Que. 9 There is family of seven member having three generations. There are more than four females in the
family. A is the father of B. L is married to the only son of G. L has an unmarried sibling K. B is the



nephew of K. C is the child of A. G is the mother of A. H is the parent of L.
How H is related to L?

Correct Option - 1

mother1.
father2.
either 1) or 2)3.
Cannot be determined4.
None of the above5.

Que. 10 How is C related to G?

Correct Option - 3

Grandmother1.
Daughter2.
Granddaughter3.
Sister4.
Cannot be determined5.

Que. 11 How is K related to A?

Correct Option - 1

Sister - in- law1.
Brother - in- law2.
Son3.
Daughter4.
Cannot be determined5.

Que. 12 How many pairs of letters are there in the word “LEMON” each of which has as many letters between
them as in the English alphabetical series in both forward and backward directions?

Correct Option - 1

Two1.
Four2.
Five3.
Three4.
One5.

Que. 13 If the letters of the word ‘BOUQUET’ are arranged as they appear in the English alphabetical order,
then how many letters will remain in their original order.

One1.
Two2.



Correct Option - 2

Three3.
Four4.
None5.

Que. 14 Directions: Following questions are based on the five three-digit numbers given below:
369 717 922 625 434

If all the numbers are arranged in descending order from left to right then which of the following will be the
product of the first and last digits of the number which is second from right end?

Correct Option - 1

161.
302.
273.
494.
185.

Que. 15 If the positions of the first and third digits of each group of the number is interchanged, what will be
the sum of the first and second digits of the third lowest number thus formed?

Correct Option - 5

131.
152.
93.
114.
75.

Que. 16 If one is subtracted from each odd digit and one is added to each even digit of each of the numbers,
what will be the difference between the third digit and the first digit of the highest number thus

formed?

Correct Option - 5

Zero1.
62.
43.
24.
55.

Que. 17 what will be the resultant if the first digit of the highest number is divided by the third digit of the
second lowest number?

0.51.



Correct Option - 5

12.
23.
2.24.
2.255.

Que. 18 If all the digits in each of the numbers are arranged in descending order within the group of number
from left to right then which of the following will be the second lowest number?

Correct Option - 4

3691.
7172.
9223.
6254.
4345.

Que. 19 How many meaningful English words can be formed, starting with E, with the second, the fifth, and
the sixth letters of the word MARKET, using each letter only once in each word?

Correct Option - 3

Three1.
Two2.
One3.
None4.
More than three5.

Que. 20 Eight persons - A, B, C, D, E, F, G and H live in a building of 4 floors and 2 flats - Flat 1 and Flat 2.
Flat 1 is to the west of Flat 2 and Flat 1 of Floor 1 is immediately below Flat 1 of Floor 2 and Flat 2 of

Floor 1 is immediately below Flat 2 of Floor 2 and so on. There are two floors between B and C. B lives above C
and they live in different flats. A lives west of D but on the odd number of floor. F lives immediately above C.
No person lives west of G who lives on the fourth floor. H does not live on floor number one.

Who lives just East of F ?

Correct Option - 4

A1.
C2.
D3.
H4.
B5.

Que. 21 On which Floor B lives?



Correct Option - 4

First1.
Second2.
Third3.
Fourth4.
None5.

Que. 22 Who lives just below H ?

Correct Option - 5

A1.
B2.
C3.
D4.
E5.

Que. 23 Which of the following pair is correct ? 

Correct Option - 2

Floor - 2 Flat - 1 - H1.
Floor - 3 Flat - 2 - D2.
Floor - 4 Flat - 2 - G3.
Floor - 1 Flat - 2 - C4.
Floor - 3 Flat - 1 - F5.

Que. 24 Which Floor Flat Combination is correct for E ?

Correct Option - 1

Floor 1 Flat 21.
Floor 2 Flat 12.
Floor 3 Flat 23.
Floor 4 Flat 14.
Floor 2 Flat 25.

Que. 25 Directions: Study the given information carefully and answer the following questions below.
Seven persons A, B, C, D, E, F and G are sitting in a straight line facing north at equal distance from

each other, but not necessarily in the same order.
B sits at the extreme right end of the row. E sits exactly between G and B. D sits third to the left of C and A sits
second to the right of D. G sits second to the left of B. Only two persons sit between F and G.
How many persons sit between B and C?

Four1.
Three2.



Correct Option - 5

One3.
Five4.
Two5.

Que. 26 Who sits at the extreme left end of the row?

Correct Option - 2

C1.
D2.
E3.
F4.
G5.

Que. 27 Who sits exactly in the middle of the line?

Correct Option - 1

C1.
D2.
E3.
F4.
G5.

Que. 28 What is the position of A with respect to D?

Correct Option - 4

Third to the right1.
Second to the left2.
Third to the left3.
Second to the right4.
Immediate right5.

Que. 29 Direction: In the question below, there are two statements followed by two conclusions numbered I
and II. You have to take the given statements to be true even if they seem to be at variance with

commonly known facts. Read all the conclusions and then decide which of the given conclusions logically
follows from the given statements disregarding commonly known facts.
Statements:
Only few cold are colder.
Only few hotter are colder.
Conclusions:
I. No cold is hotter is a possibility.
II. All cold are hotter.



Correct Option - 1

Only conclusion I follows1.
Only conclusion II follows2.
Both I and II follow3.
Neither I nor II follows4.
Either I or II follows5.

Que. 30 Direction: In the question below, there are two statements followed by two conclusions numbered I
and II. You have to take the given statements to be true even if they seem to be at variance with

commonly known facts. Read all the conclusions and then decide which of the given conclusions logically
follows from the given statements disregarding commonly known facts.
Statements:
Only few way are rank.
No rank is count.
Conclusions:
I. All rank are way.
II. Some way are not count.

Correct Option - 2

Only conclusion I follows1.
Only conclusion II follows2.
Both I and II follow3.
Neither I nor II follows4.
Either I or II follows5.

Que. 31 Direction: In the question below, there are two statements followed by two conclusions numbered I
and II. You have to take the given statements to be true even if they seem to be at variance with

commonly known facts. Read all the conclusions and then decide which of the given conclusions logically
follows from the given statements disregarding commonly known facts.
Statements:
Some sea are song.
Only few song are ocean.
Conclusions:
I. Some sea are ocean.
II. All ocean are song.

Correct Option - 4

Only conclusion I follows1.
Only conclusion II follows2.
Both I and II follow3.
Neither I nor II follows4.
Either I or II follows5.



Que. 32 Direction: Read the given information carefully and answer the questions asked below.
Eight people A, B, C, D, W, Y, X, and Z are sitting around a square table in such a way that four of

them sit at four corners of the square while four sit in the middle of each of the four sides. People who are sitting
in the middle are facing outside the center while people sitting at the corner are facing the center. C sits second to
the left of W. Three people are sitting between C and X. D is not facing outside. X and A are sitting immediately
right to each other. W is not sitting adjacent to A. B is not sitting adjacent to C. B is sitting opposite to Y. Y and Z
are not sitting adjacent to each other.

Who is sitting opposite to A?

Correct Option - 4

B1.
C2.
W3.
Z4.
X5.

Que. 33 Who is sitting third to the left of B?

Correct Option - 2

A1.
D2.
Y3.
W4.
C5.

Que. 34 Four of the following five are alike in a certain way. Find the odd one out?

Correct Option - 5

C1.
W2.
X3.
D4.
A5.

Que. 35 Who is sitting adjacent to Y?

CZ1.
DA2.
DC3.
BW4.
None of these5.



Correct Option - 3

Que. 36 Who is sitting third to the right of the person sitting immediately left of X?

Correct Option - 5

Z1.
Y2.
W3.
D4.
None of the above5.

Que. 37 Direction: Study the following information carefully and answer the given questions.
An uncertain number of people are sitting in a row facing north and are at equal distance between

them. S is sitting third from the extreme end. Two people are sitting between S and F. T is sitting second to the
right of F. A is sitting immediately between E and F. Six people are sitting between T and V, who does not sit at
any end. Number of people sitting to the right of G is same as the people sitting to the left of E. G is sitting to
sixth to the right of T. Two people are sitting between P and R who is sitting to the right of V.

Which of the following statements is true?

Correct Option - 5

No people are sitting between P and T.1.
V is to the immediate left of G.2.
Only two people are sitting to the right of G.3.
F is sitting second to the right of S.4.
Four people are sitting to the left of A.5.

Que. 38 Number of people sitting to the right of A is same as to the left of _____.

Correct Option - 2

G1.
P2.
T3.
S4.
R5.

Que. 39 How many people are sitting between A and G?

Two1.
Four2.
Six3.
Eight4.
Can't be determined5.



Correct Option - 4

Que. 40 How many people are there in the row?

Correct Option - 3

141.
202.
173.
94.
105.

Que. 41 What will come in place of the question mark ‘?’ in the following question?
(21% of 3600) – (36% of 1050) = ?

Correct Option - 4

4451.
3452.
4763.
3784.
None of the above5.

Que. 42 What will come in the place of the question mark ‘?’ in the following question?

Correct Option - 1

=
?

144

−−−
√ 36

48

811.
822.
803.
784.
none of these5.

Que. 43 What will come in the place of the question mark ‘?’ in the following question?
56 × ? – 768 = 576

Correct Option - 3

271.
542.
243.
634.
425.



Que. 44 What will come in place of question mark (?) in the following question?

(72 – 62 – 3) + 12 = ?

Correct Option - 4

121.
152.
143.
224.
85.

Que. 45 What will come in the place of the question mark ‘?’ in the following question?
25% of 340 + 17 – 21 = ?

Correct Option - 2

911.
812.
873.
844.
755.

Que. 46 What value should come in place of question mark (?) in the question?
(√225 + 6) × 7 = 3 × ?

Correct Option - 1

491.
72.
543.
454.
None of these5.

Que. 47 What value should come in place of question mark (?) in the question?
(216 ÷ 3) + 9 = ?/5

Correct Option - 1

4051.
452.
543.
4154.
None of these5.



Que. 48 What should come in the place of (?) in the following question

Correct Option - 1

4 + 5 − 4 =?
3

5

1

4

5

8

1. 5
9

40

2. 4
7

40

33.
24.
None of these 5.

Que. 49 What should come in place of question mark (?) in the following question?

3542 ÷ 22 + 200 = ?2

Correct Option - 4

201.
292.
223.
194.
None of these5.

Que. 50 What will come in the place of the question mark ‘?’ in the following question?
30% of 30 – 12 + 7 = ?

Correct Option - 2

51.
42.
83.
74.
None5.

Que. 51 What will come in place of the question mark (?) in the following question?

75% of 480 + (?)2 = 5544

Correct Option - 3

701.
892.
723.
694.
785.



Que. 52 What will come in place of the question mark (?) in the following question?
? + 548 = 65% of 1500

Correct Option - 3

3271.
4562.
4273.
5264.
4625.

Que. 53 What will come in the place of ‘?’ in the following question?

125 × 55 = 5? × (25)2

Correct Option - 4

-81.
82.
-43.
44.
None of these5.

Que. 54 What will come in the place of the question mark ‘?’ in the following question?

{(7776)1/5 × 1296} = (6)?

Correct Option - 4

61.
82.
43.
54.
35.

Que. 55 What will come in the place of the question mark ‘?’ in the following question?
50% of 2500 – 20% of 1725 = ?

Correct Option - 3

10051.
10002.
9053.
9004.
9155.



Que. 56 Two taps A and B can empty a cistern in 2 hours and 60 minutes respectively. If both the taps are
opened simultaneously then in how much time both the taps together will empty the completely filled

tank?

Correct Option - 4

30 minutes1.
25 minutes2.
47 minutes3.
40 minutes4.
16 minutes5.

Que. 57 A shopkeeper earns a profit of 35% when he sells articles at a discount of 10%. What will be the profit
percentage if he gives 20% discounts?

Correct Option - 1

20%1.
17.5%2.
25%3.
15%4.
12.5%5.

Que. 58 A invests Rs. 10000 for 2 years at 10% per annum while B invests Rs. 18000 for 3 years at 20% per
annum. Then find the difference between the simple interest earned by A and B.

Correct Option - 4

Rs. 94001.
Rs. 82002.
Rs. 85003.
Rs. 88004.
Rs. 92005.

Que. 59 A starts a business with Rs. 4000 and B joins the business 4 months later with an investment of Rs.
5000. After a year, they earn a profit of Rs. 22000. Find the shares of A and B.

Correct Option - 2

10000 , 120001.
12000, 100002.
24000, 200003.
24000, 120004.
20000, 100005.

Que. 60 The area of the rectangle is  rd of the area of the square. The area of the square is 576 cm2. If breadth
of rectangle is 12 cm. What is the perimeter of rectangle ? 

1

3



Correct Option - 3

43 cm1.
50 cm2.
56 cm3.
66 cm4.
None of these5.

Que. 61 Direction: Given bar graph shows the number of bags manufactured by 4 different companies and the
number of bags sold by them.

The number of bags unsold for companies C and D together is of what percent of the number of bags sold by
companies A and B together?

Correct Option - 4

57.14%1.
33.33%2.
83.33%3.
31.25%4.
62.5%5.

Que. 62 What is the average of number of bags sold by all the companies?

77.51.
27.52.
1053.
47.54.
865.



Correct Option - 1

Que. 63 By what percent, the number of bags manufactured by company B is more/less than that of company
C?

Correct Option - 5

66.67%1.
33.33%2.
100%3.
25%4.
50%5.

Que. 64 What is the ratio of the number of bags sold by companies B and C together to the number of bags
unsold for company D?

Correct Option - 2

13 : 41.
13 : 22.
13 : 103.
7 : 104.
7 : 25.

Que. 65 What is the difference between the total number of bags unsold for companies A, B and C together and
the number of bags manufactured by company D?

Correct Option - 4

401.
202.
503.
304.
105.

Que. 66 In each of the following number series, the wrong number is given, find out that number.
54, 58, 49, 65, 42, 76

Correct Option - 3

761.
582.
423.
654.
495.



Que. 67 In each of the following number series, the wrong number is given, find out that number.
45, 46, 40, 51, 35, 60

Correct Option - 5

451.
462.
513.
354.
405.

Que. 68 In each of the following number series, the wrong number is given, find out that number.
50, 35, 44, 31, 42, 27

Correct Option - 3

351.
422.
443.
274.
315.

Que. 69 In each of the following number series, the wrong number is given, find out that number.
9, 17, 33, 65, 129, 255

Correct Option - 1

2551.
332.
173.
654.
95.

Que. 70 In each of the following number series, the wrong number is given, find out that number.
10, 29, 12, 32, 14, 33

Correct Option - 4

121.
292.
143.
324.
335.

Que. 71



A container has capacity of 20 litres and is full of milk. 10 Litre of milk is taken out of it and replaced by same
quantity of water again 10 litres of mixture is taken out and replaced by equal quantity of water. How much milk
is left in the mixture.

Correct Option - 2

25 litres1.
5 litres2.
10 litres3.
15 litres4.
None of these5.

Que. 72 If a person's monthly income is Rs. 6500 and he spent 10% of his income on rent and 25% on food and
other purposes, what amount of money did he save from his monthly income?

Correct Option - 2

45501.
42252.
40503.
45354.
None of the above5.

Que. 73 The ratio of present ages of Ajay and Atul is 4 : 9. The ratio of their ages 9 years ago was 1 : 3. Find
the ratio of their ages 6 years from now.

Correct Option - 4

2 : 11.
1 : 32.
3 : 13.
1 : 24.
2 : 75.

Que. 74 A man can row 60 km upstream in the same time as 120 km downstream. If it can row 300 km
upstream in 10 hours, find the speed of the boat in still water.

Correct Option - 3

30 km/hr1.
25 km/hr2.
45 km/hr3.
20 km/hr 4.
50 km/hr5.

Que. 75



There are four consecutive even numbers, such that the average of the last and the first number is 11, find the
difference between the second and the third number. 

Correct Option - 2

1 1.
2 2.
33.
44.
55.

Que. 76 Direction: Read the following table carefully and answer the following questions:
The following table shows four different jobs in three different years.

Jobs/Years 2001 2002 2003

Reporters 400 550 720

Anchors 500 400 600

Editors 640 750 530

Journalists 420 650 500

Find the approximate average number of Reporter jobs in three years.

Correct Option - 2

5631.
5572.
5713.
5844.
5915.

Que. 77 Find the number of jobs in the year 2001, which is approximately what percent less than the number of
jobs in the year 2003.

Correct Option - 3

21%1.
26%2.
17%3.
12%4.
33%5.

Que. 78 Find the ratio between the number of Journalists to Anchors in three years.

157 : 1501.



Correct Option - 1

147 : 1302.
119 : 1303.
153 : 1404.
None of these5.

Que. 79 Find the difference between the jobs in the years 2002 and 2001.

Correct Option - 3

1901.
2902.
3903.
4904.
3105.

Que. 80 Find the number of Editors in 2002 which is approximately what percent of the total Editors jobs in
three years.

Correct Option - 2

43%1.
39%2.
35%3.
27%4.
51%5.
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